Seat No.

Time: 02:30 PM TO 04:00 PM

Instructions:
1. Attempt all questions.

Enrolment No.:

Gujarat Technological University
Diploma Engineering C to D Bridge Course Examination

Subject Code: C300001/DA300001
Subject Name: Basic Mathematics

Date: 01-06 -2019

Total Marks: 70

2. Make suitable assumption wherever necessary.
3. Each question is of 1 mark.
4. Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)
5. English version is authentic.
No. | Question Text and Option. U w1 [dscul.
log32 +~logl16 =
A. 5 B. 4
1. Z il
5
C. 2 D. 16
log32 +~logl16 =
. A. 5 A. f
4 5
C. 2 C. 16
log, a-log.b-log,c =
2. | A 0 B. 1
C. logla+b + ¢) D. log(a-b-c)
log,a-log.b-log,c=
2. | A 0 B. 1
C. logla+b+c¢) D. log(a-b-c)
Iflog, x = 5thenx =
3. | A 1 B. 0
C. 32 D. 25
ofllog, x = 5 €l dlx =
3. | A 1 B. 0
C. 32 D. 25
log, 1-log;2-log, 3 =
4 A. 1 B. 1
4 log, 4
C. log, 4 D. |0
log, 1-log;2-log, 3 =
A. 1 B. 1
’ 4 log, 4
C. log, 4 D. |0
log, a =
5. | A 0 B. -1
C. a D. 1
log,a =
u, | A 0 B. -1
C. a D. 1
logx™ =
6. | A n B. |x
C. nlog x D. xlogn
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logx™ =

<. | A n B. [X
C. nlog x D. xlogn
510g53 —
7. | A 3 B. |125
C. 5 D. |1
510g53 —
a. | A 3 B. |125
C. 5 D. |1
If log(x — 1) + log(x + 1) = log 8 then x =
8. | A 1 B. |3
C. -1 D. |0
sl log(x — 1) + log(x + 1) = log8 st dlx =
. | A 1 B. |3
C. -1 D. |0
log(x +y) =
9. |A logx +logy B. logx -logy
C. logx —logy D. logx +logy
log(x +y) =
. | A logx + logy B. logx -logy
C. logx —logy D. logx +logy
log(x-y) =
10. | A logx +logy B. logx -logy
C. logx —logy D. logx +logy
log(x-y) =
q0. | A logx +logy B. logx -logy
C. logx —logy D. logx +logy
cosf sinf| _
—sinf cos@
WA 11 B. |1
C. 2 D. |0
cosf sinf| _
—sinf cosfH!
1A [ B. |1
C. 2 D. |0
If|x 4|=0thenx=
12, [ 4T A
A -4 B. |2
C. 4 D. |8
~ | x 4 ~ =~
GXL|_ 2|=0L$.l3‘|. lx =
1A 4 B. [2
C. 4 D. |8
logg3 logg 2
—1 1
3. TA 1 B. [0
C. 2 D. |-1
logg3 logg 2
—1 1
A 1 B. [0
C. 2 D. |-1
If A= [1 1] then A2 =
14, 11
A 2A B. I
C. A D. 0
Vs, | HLA = [i ﬂ Sl dl A% =

2/11




A. 24 B. I
C. A D. 0
Unit matrix I =
A. 0 1 B. 0 0
15. 1 0 0 o0l
C. 1 1 D. 1 0]
_ 1 1 0 1.
SRIBIENE
A. 0 1 B. 0 0
u. 1 0l 0 0
C. 1 1] D. 1 0]
1 1 0 1.
Size of the matrix A = [2 —3 5 is
16 0 -1 4
A 3x2 B. 2X3
C. 2 X2 D. 3% 3
Al A = [(2) :i Z] Al saL =
1 A 3x2 B. 2%x3
C. 2 X2 D. 3% 3
2 0
IfA=|3 1]|thenA” =
S 2 0 0 0
A. B.
17 3 1] [0 0]
5 4 0 0
C. 2 3 5 D. [0 0 0]
0 1 4 00 0
2 0
LA =13 1|cladlAT =
S 2 0 0 0
A. B.
5 4 0 0
C. 2 3 5 D. [ 0 ]
— 0 1 4 00 0
— -1 _
IfA= c 3]thenA : —5 . .
A. B. —
18. [1 3 -5 2 ]
C. [1 0 D. 0 1
— 0 1 1 0
A _ A N -1 _
A = [5 S]G,L*{dlA 5_ _—
A. 2 5 B. —
e 1 3l 5 2 |
C. 1 0] D. 0 1
s e s 0
19 4 31Ty 117
- A 4 B. |5l
C. 21 D. |3l
2 5]1.,[2 -5]_
5 —4 3| + 4 11
1< A, 41 B. |5l
C. 21 D. |3l
0 0 0
1 2 3=
20. > 3 4
A |4 |B. |0
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C. |2 [D. |1
0 0 0
1 2 3=
o 234l
c. |2 D. |1
>
2 -1 31|3[=___
21, 5
A. [21] B. [17]
C. [18] D. [1]
ot
2 -1 31|3[=___
R1q. 5
A. [21] B. [17]
C. [18] I D1. [1]
[—4 3]'[4 1]:—
22. [ A [1 0 B. 8 4
C ) D Ty
' [8 3] — 1 4 1
n — [—4 3]'[4 B1]=— ——
' Ny ' L, 20
If[zx-"5 ;] 14 3]thenx—
23,
A 2 B. |-2
C. D. |-1
[Zx_-ZS 1] [ ]S\ 4 dlx
<3 TA. B. [-2
= 1 TEE 2[)'—1-_=l
3 51714 —1]
24, | A —10 11 B. 4 3
A 1,
| Iy 11]_1 — '_1_ J0_10)
A ~10 11[_3 5]_[ 5_1'= i 3
S e
' [—10 11] ' [—10 10
IfA = (1) 1]then A3 =
S L
C. 1 0 D. [—1 0
0 1 0 -1
sm_[(l’ é]dmﬁﬁ:
LA 0 1 B, [0
1.0 1 0
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C. [1 0 D. -1 0 ]
0 1 _ 0 -1
tan(30) =
A. V3 B. 1
26.
C. V3 D. 1
2 V3
tan(30") =
A. V3 B. 1
A
C V3 D. 1
2 V3
Period of sin @ is
27. | A. 0 B. 2T
C. 1 D. I
sin @ < wAdHld=
29, | A. 0 B. 2T
C. 1 D. I
60° = radian
A. T B. i
28. 2 3
C. T D. B3
4 6
60" = EIROR]
A. T B. i
RL. 2 3
(i D. T
4 6
sin (E + 9) =
29. 2
A. cosd B. —cos 6
C. sin 0 D. —sin @
sin (E + 6) =
2
e A cosf B. —cos 6
C. sin 0 D. —sin @
sin(r + 60) =
30. | A. cosf B. —cos 6
C. sin 0 D. —sin @
sin(m+ 0) =
3o. | A cos 6 B. —cos
C. sin 6 D. —sin @
4t =
31 [ A 360° B. 300°
C. 720° D. 180°
4T =
34. | A 360° B. 300°
C. 720° D. 180°
cos?39° 4+ sin? 39" =
32. | A 1 B. 0
C. -1 D. 2T
cos?39° 4+ sin? 39" =
LA 1 B. |0
C. -1 D. 2T
33. sin(a + B) =
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A sina cos f + cosasinf§ B. cosa cosff +sinasinf
C. sinacosf —cosasinf D. cosa cos f —sinasinf
sin(a + B) =
33. | A sina cos B + cos a sinf8 B. cosa cosff +sinasinf
C. sinacosf —cosasinf D. cosa cos f —sinasinf
cos2a =
34. | A cos?a +sin®a B. cos?a —sina
C. 2sina cos a D. 1—sina
cos2a =
3%. | A cos? a + sin a B. cos? a — sin® a
C. 2sina cos a D. 1—sina
cos? 41" 4 cos?49° =
35. | A. -1 B. 2
C. 0 D. 1
cos? 41" 4 cos?49° =
3u. | A. -1 B. 2
C. 0 D. 1
sin 75" + sin 15" =
A. 1 B. 0
36. | C. V3 D. 3
z L
sin75 +sin15° =
A. 1 B. 0
3=. | C. V3 D. 3
z L
cos90° cos 60° sin 30" =
A. 1 B. 1
37. P
C. 0 D. 1
o o o 4
c0s 90 cos60 sin30 =
A. 1 B. 1
30. 2
C. 0 D. 1
4
For AABC,tan(B + C) =
38. | A tanA B. —tanA
C. cotA D. —cotA
AABC 412, tan(B + C) =
3¢. | A tanA B. —tanA
C. cotA D. —cotA
tan~! (i) + tan™?! (E =
5 4 -
39, A. 0 B. 3_1T
2
C. T D. £
2 2
tan~?! (g) + tan™?! (Z =
s | A 0 B. 3n
2
C. T D. i
2 2
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40. | A 3 B. 3
4 4
C. T D. n
4 4
(-3
cos™ |\ ——=]| =
V2
vo. | A _3m B. 3n
4 4
C. T D. T
4 4
sin 225" =
A. V3 B. V3
41. 2 2
C. 1 D 1
V2 V2
sin 225" =
A. V3 B. V3
¥Aa. 2 9
C. 1 D. 1
V2 V2
CosS (E) + cos (6—77:) =
42 2 5/
A 0 B. 1
C. -1 D. 2
T 6r
CoS (—) + cos (—) =
%3 5 5
A 0 B 1
C. -1 D. 2
If sind = —2 then @ lies in quadrant.
43. | A. First B. | Second
C. Third D Not possible
4l sinf = —2 SiA dl O YA GIA.
¥3. |A | uaw B. | [zadlx
C. Adla D. | asyqdl
Period of sin(3x — 5) =
a | A 3n B. 2m
2 3
C. 21 D. T
sin(3x — 5) < 2UAdHId =
vy | A 3n B. 2m
2 3
C. 21 D. T
. 7-[ i
Sin (g) =
2 2
C. 2—4/2 D 2++/2
4 - 4
WU, sin (g) =
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A. 2 -2 B. 2+2
2 2
C. 2—42 D. 2++2
4 4
li —2j+3k| =
46. | A V13 B V6
C V14 D. V2
li —2j+3k| =
ve. | A V13 B V6
C. V14 D V2
If x(1,1) — y(2,1) = (—1,0) then (x,y) =
47. | A. (-1-,1) B. (1,1)
C. (1,-1) D. (-1,1)
oAl x(1,1) —y(2,1) = (=1,0) slddl (x,y) =
va. | A (-1-,1) B. (1,1)
C. (1,-1) D. (-1,1)
A unit vector along 3i — 4j =
A. 3i+4j B. 3i—4j
48. 25 25
C. 3i+4j D. 3i—4j
5 5
3i — 4j <l [zanl visv ulea =
A. 30 + 4f B. 3i — 4j
. 25 25
C. 3i+4j D. 3i — 4j
5 5
Ifx=(2-14),y=(11-3)thent +y =
49. | A. (=3,0,1) B. (3,0,1)
C. (=3,0,—1) D. (3,0,—1)
o x=(2-14),y=(11-3)sAdlx+y =
v | A (—3,0,1) B. (3,0,1)
C. (-3,0,—1) D. (3,0,-1)
If x = (1,2,—4),y = (4,1,—-3) theny — x =
50. | A. (3,-1,1) B. (3,-1,-1)
C. (3,-1,-7) D. (=3,-1,1)
s x = (1,2,—4),7 = (4,1,-3) slddly — x =
yo. | A. (3,-1,1) B. (3,-1,-1)
C. (3,-1,-7) D. (=3,-1,1)
Direction cosine of vector (—1,2,—2) is
A. 122 B. 1 2 2
51. 33’3 "37373
C. 12 2 D. 12 2
3’3’ 3 5'5” 5
Alza (1,2, —2) U [essins-l £,
A. 122 B. 1 2 2
u1. 3’3’3 3" 3" 3
C. 12 2 D. 12 2
3’3’ 3 _ 5'5° 5
Ifa=(1,3,-5),b=(1,—-1,—-3)thena-b =
52. | A. 12 B. 0
C. 13 D. |-1
wa ssia = (1,3,-5),b = (1,—-1,-3) slddla-b =
A |12 |B. |0
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C. |13 |D. |-1
If vectors @ and b are parallel to each other thena x b =
53. | A Unit vector B. 1
C. Zero vector D. |0
ol A2l @ w1 b WU Uiz sl dla X b =
u3. | A wisH 29 B. |1
C gt Ulea D. |0
is perpendicular to @ and b both.
54. | A. a-b B. a—b
C. axb D. a+b
wl @ U b biedd €0t 89
uy. | A a-b B. a-—b
C. axb D. a+b
If (1,a,—-5)-(0,5,3) =0thena =
55. | A 15 B. 3
C. 0 D. |5
o4 (1,a,—5) - (0,53) = 0 slddla =
uu. | A. 15 B. 3
C. 0 D. 5
If 6 is an angle between the vectors X and y then sin 8 =
A. lx x y| B. X+ y|
56. |x[1¥] ||| 7]
C Xy D. |x — ¥l
(1] |||y
oL AU[29ll X A § 4221 VB O st dlsin§ =
A lx x y| B. X+ y|
Ue. |x[1¥] ||| 7]
C Xy D. |x — ¥l
(1] |||y
is a unit vector.
S7. | A i+ B. cosBi + sinfj
C. i—j D. 0i +0j
wl BisH U296,
ua. | A i+j B. cosOi + sinfj
C. i—j D. 0i + 0j
(-2,1,3) x (3,—-1,2) =
58. | A (-5,13,—1) B. (5,13,1)
C. (5,—13,—1) D. (5,13,—1)
(—2,1,3) x (3,—-1,2) =
ue. | A (-5,13,—1) B. (5,13,1)
C. (5,—13,—1) D. (5,13,—1)
is not unit vector.
59. | A. (1,1,1) B. (=1,0,0)
C. (0,0,1) D. (0,1,0)
wi [ 2isH, ).
ue, | A. (1,1,1) B. (=1,0,0)
C. (0,0,1) D. (0,1,0)
If displacement of a particle is (—1,2,5) under the total force (—1,3,6) then the work
60 done will be .
A 35 B. 0
C. 37 D. 30
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-

oL 516 5BLUR 54 010 (—1,3,6) ALl de 2214id2 (—1,2,5) Ad S dl s

co. |44
A. 35 B. 0
C. 37 D. |30
Volume of sphere of radius r =
A. 2 B. 4 .

61. 37" 37T
C. 2mr? D. Amrr?
r Bosil Al olids<d ddsn=
A. 2 B. 4 .

<. 37 37"
C. 2mr? D. Amrr?
Surface area of cylinder =

62. | A. 2nrh B. rih
C. 2nr?h D. nrh
ANl A5 AULZ] Eogn=

2. | A 2nrh B. nr?h
C. 2nr?h D. nrh
Radius and height of a cone is 4cm and 15cm respectively then Volume =

63. | A. 40 B. 60m
C. 807 D. 851
9is<ll Bioril v GULE vi45H 4om 24 15cm SlA dl d< dedsn=

<3. | A 40m B. 601
C. 807 D. 851
Surface area of a cuboid is

64. | A. Ibh B. I+b+h
C. Ib+bh+lh D. | 2(Ib+bh+lh)
dotee<il a5l adsn=

<7. | A Ibh B. I+b+h
C. Ib+bh+lh D. | 2(Ib+bh+lh)

Area of square having perimeter 40cm is cm?.

65. | A. 1600 B. 100
C. 20 D. 10
Y[2[H[A 40cm Sl dal ARy HoLs0 cm?a,

<U. | A 1600 B. 100
C. 20 D. 10
Area of a circle having radius 4cm is

66. | A. 8m B. l6m
C. 2T D. 4
4em (sl AloU ddo B0 24,

%%, | A 81 B. 16w
C. 21 D. 41
1m? = cm?

67. | A. 10000 B. 1000
C. 100 D. |10
1m? = cm?

9. | A 10000 B. |1000
C. 100 D. 10
Area of rectangle having length 250cm and breadth 80cm is m?2.

68. | A, [20000 B. [200
C. 2 D. |20

% ¢. | 250cm Eotls) @i 80cm WSO AL GARIRU BAS0L m2a4.,
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A. 20000 B. |200

C. 2 D. |20

If a circle is made from 10w cm long wire then area of circle is
69. | A. 1007 B. | 257

C. 10w D. |b5n

o4 107 cm Qiotl Al 440 1AMl 2UA dl d Ao &g A,
<. | A 1007 B. 251

C. 107 D. |5m

Base and altitude of a triangle is 12cm and 5¢cm. The area of triangle is cm?
70. | A. 60 B. |120

C. 90 D. |30

[BAsiLl YL d2l sl douts 12cm 244 5em Gl dl Bisio axsa
Q0. | A 60 B. |120

C. 90 D. |30
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